void OnTick ()
{

int signal = 0;

double lots = Lots;

double take profit = TakeProfit;
double stop loss = StopLoss;

Trade = true;
if (isExitByElapsedTime == true) ExitByBars (barsl, TimelLimitBars, Magicl);
if (Trade == false) return;

lots = Lots;

take profit = TakeProfit;

stop loss = StoplLoss;

signal = 0;

if (iLow (Symbol (), PERIOD M5, 2)+PipsToPrice(0) <= iLow(Symbol(), PERIOD M5, 1)+PipsToPrice (0)

&& 1High (Symbol (), PERIOD M5, 2)+PipsToPrice(0) <= 1iHigh(Symbol(), PERTOD_MS, 1) +PipsToPrice(0)) signal = 1;
if (isTimeFilter == true && TimeFilter (signal, TimeFilterStartTimel, TimeFilterEndTimel) == false) signal = 0;
if (barsl == Bars) signal = 0;
if (signal != 0 && getOpenlots (Magicl) == 0) {

if (openPosition(signal, lots, take profit, stop loss, Magicl)) {
barsl = Bars;
if (isMail == true) SendEMail (signal) ;
}
}
lots = Lots;
take profit = TakeProfit;
stop loss = StoplLoss;
signal = 0;
if (iLow(Symbol (), PERIOD M5, 2)+PipsToPrice(0) >= iLow(Symbol(), PERIOD M5, 1)+PipsToPrice (0)

&& 1High (Symbol (), PERIOD M5, 2)+PipsToPrice (0) >= 1High(Symbol (), PERIOD M5, 1)+PipsToPrice(0)) signal = -1;
if(isTimeFilter == true && TimeFilter (signal, TimeFilterStartTimel, TimeFilterEndTimel) == false) signal = 0;
if (barsl == Bars) signal = 0;
if(signal != 0 && getOpenlots (Magicl) == 0) {

if (openPosition(signal, lots, take profit, stop loss, Magicl)) {
barsl = Bars;
if(isMail == true) SendEMail (signal) ;
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